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2. The graph of y = f{x) is shown. State the range of y = —f’(i\c). 3
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3. a. Write a transformation of f(x) that translatext 5 units left, followed by a reflection in the x axis.
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b. Ifthe turning point on f (x) is (3 -6), state the coordinates of the turning point of g(x) if
g() = 2f(=x) +3. (3 6) > ( 3y-6) (-3, -12)
"t
| ' 1 w3
' 4372 1
" . (3x ) B _(] .
4, Which of the following is equivalent to ( 5)3 forall x=07 " C 3 i
- ' 2x"
. i -2 -B 7
‘_9 i x" ""9 1 :3 X - X
(1) = O O 4) = e B
8 72 - Bx T2x =% L ? 5,
3 ¥ 3~
(
5. Th L isth eyl _L_ ' :) T z
e expression _E is the same as ’W ~ G ¥ PN a5 T x 12
( ;x% @) 4x 3) 27 ) %xyz

6. Factor Completély 6x? — 11x — 10 (Q X

sb 07
15X X+4x
7/ =1
7. Simplify 3/40x6y13
':{.i‘? 3 3 ol a0 X s A;“i
" {?FJ:VFF
\f?x Y J\

For #8 — 9 Identify whether the ﬁmctlon 18 even odd or neither.
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10. Algebraically determine if h(x) = 2x° + x is odd, even or neither. Justify your answer.
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11. Determine the quotient and remainder when f(a) = 6a®+ 14a g 9 i IS divided by d(a) = 3a — 2. Express your ( \
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answer in the form ¢(@) + 7= cz(a) 3&

QC\ 46&*’ 4+

= _‘5x+ 3 _
12. The expression —-3—T§—— can be rewritten as
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For #14 — 17 Perform the indicated operation if f (x)=x*+3andg(x) =x—4
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19. Factor compl tely ax* —6ax —27a
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20. For the function y = f (x]&vn ﬁraplﬁed on the right: A

a) State the domain of f(2xy——> ;2= ~ 9« 1\ / 1 \
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